(x+y+2)? - (x—-y-2)*& A5-23lshA?

O 2x(y+2) @ 4x(y-2) ® x(3y+2)

@ 4x(y+2) ® 4y(x+2)



2. Bx+1)?-(2x-3)2=0Gx+a)(x+b) D, a-b 9] 327

@ 5 @ -1 ® -6 @ -10 ® -12



3. (2a-3b)? - (4a—5b)* = 4(ma + nb)(b — pa) D ™, mn-p 2] =
T-5H?

@ -11 @ 13 ® -13 @ 11 ® -2



x? - (2 —6y+9) & IEalotHA?

@ (x-y=-5)(x-y+2) @ (x-y+5)(x-y+2)

® (x+y-3)(x-y-3) @ (x+y+3)(x-y+3)

® (x+y-3)(x—y+3)



e add 2L A4 D B F
ABED, BCFE oA BD / %
BP, BF = BQ 21 A P,

O

= A4 Al A= o,

P(a), Q(b) °ll Hi3ted, a® - b* 2] 3L

D 162 @ -162 ® 20+ 162
@ 20-16V2 ® -20-16+2



6.

x=-1+ V3 4 u|, 42 + 8x+4 ° F-& FolH"

® 10 @ 12 ® 13 @ 14



o Ly o R

@9 @ 12 ® 15



Xy
1 1
TS T Ve

@ V3 ® 22 @ 32 ® 42




o

op

Va5 - \[(-6)" + \/(-3)” x 21 = VBT - (=)’

@7 ® 10 @ 13 ® 19

O -11



10. A:(—«/§)2—(—«/5)2— V(=2)2, B= \/8_2+<—\/§)2+ (-5)% x

2
<\/§) SEPVELCELED

@® -60 @ -48 ® 10 @ 48 ® 60



1012 312
11. 206~ V254, 1/ ey =34 o, a+b 9 S FSHH?

@ 5 @ 10 ® 15 @ 20 ® 25






13. [a, b, ] = (a-b)(a—c) T W, [a, b, c]-[b, a, ] & VTEHSIH,
(xa+yb+zc)(pa+qgb+rc) Otk ol W, x+y+z+p+qg+r 2
22

® -1 @ 3 ® 0 @ 2 ® -2



14, oFe 17] Fol4 2% - b - 3ab? 9] Q158 B 1E ALY

a]]
@ a © a-b © a+b
® 2a-b @ 2a+2b ® 2a-3b
ONGHC) @ 0,0, ® @06

@ 0,6, ® 0,6,



15.

x(y—a)—y+a EHEA A5

@ (x+1)(y+a)

@ (x-1)(y-a)



16. o B7] F xy(2x+ 3y) —xy(x +y) & QI8 BF I A2?
H7]
@ xy © x+y © x+2
® 2x+ 3y @ x(x+2y) ® y(x+y)
® ©,6 @ 9,6, ® 6,0, 6
@ ©, 6,0 ® ©,0,6




